[ Efficiency vs vertpos |

~ 0.4
o

©0.00F +-wrerrineeeneees 5
4 : :
O S :

Q
§0.07

2
£0.06
0.05
0.04
0.03
0.02
0.01

............................

il 25 B0

o

0.8l
1072

Efficiend

~ 0.2

0.06f -+ 5ee-xe- ..
0.04F -+
0.02

20.18F -+ SRR SRR T S
n 3 : : :
>0.16----- [EETTEEN SRR :
> . :

< o : : :
_90-14__ """ ----------- :

5 E : : :
£ 0,12 ookl
o : : :
0.0 e I :

0.08fF--+-3emnee- A

.......

Ratio

[ Efficiency vs. sim PV z |
~n 0.2

0 10 20 30
TP vert z (cm)

Zoask- o fl i
B 0.8+ cbereefif-eee e

S

e

effic

0.08F
0.06F
0.04F
0.02F

»0-16 R R IS SRR SR
20.14f oo e
oy F : H :
YT RS IS

04 -bers it frooeed

............................

...........................

=

G

Ratio

l-

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


